		4							
1	Mark S. Bostick (Bar No. 111241)								
2	Albert Flor, Jr. (Bar No. 168291) WENDEL, ROSEN, BLACK & DEAN LLP 1111 Broadway, 24 th Floor								
3	Oakland, California 94607-4036								
4	Telephone: (510) 834-6600 Fax: (510) 834-1928 Email: mbostick@wendel.com	¥							
5	Email: aflor@wendel.com								
6	Attorneys for Michael G. Kasolas, Trustee								
7									
8	UNITED STATES BANKRUPTCY COURT								
9	NORTHERN DISTRICT OF CALIFORNIA								
10	OAKLAND DIVISION								
11									
12	In re	Case No. 16-40050-WJL							
13	FOX ORTEGA ENTERPRISES, INC., dba PREMIER CRU,	Chapter 7							
14 15	Debtor.								
16	MICHAEL G. KASOLAS, Trustee,	Adversary Proceeding No.							
17	Plaintiff,	COMPLAINT TO AVOID AND RECOVER PREFERENTIAL TRANSFEI							
18	VS.	AND DISALLOW CLAIMS							
19	ROBERT WATT,								
20	Defendant.	a a							
21		-							
22									
23	Plaintiff Michael G. Kasolas (the "Truste	e"), trustee of the above-captioned chapter 7							
24	bankruptcy estate of Fox Ortega Enterprises, Inc., dba Premier Cru (the "Debtor"), alleges as								
25	follows:								
26									
27		av.							
28									
	I								

_		
Dean	Floor	94607-4036
ŏ		002
승	24"	946
Black		<u>a</u>
Υ	S.	
Ë	roadway,	Californi
Se	B	-
Kosen	7	Oakland
	1111	N N
endel		Ö
2		
Φ		

1

2

3

4

5

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

26

27

28

JURISDICTION AND VENUE

- 91. The Debtor filed its voluntary petition for relief under chapter 7 of the United States Bankruptcy Code (Title 11 of the United States Code) on January 8, 2016 (the "Petition Date").
- 92. Thereafter, the Trustee was appointed. At all relevant times herein, the Trustee was, and currently is, the duly qualified and acting trustee of the Debtor's chapter 7 bankruptcy case (the "Case").
- 93. This Court has jurisdiction over this proceeding pursuant to 28 U.S.C. §1334(b) and 28 U.S.C. §157(a).
 - 94. Venue is proper in this pursuant to 28 U.S.C. §1409(a).
- 95. This is a core proceeding pursuant to 28 U.S.C. § §157(b)(2)(A), (F) and (O), which seeks relief under 11 U.S.C. §§ 547(a), 550(a) and 502(d), and under Rule 7001(1) of the Federal Rules of Bankruptcy Procedure.
- 96. The Trustee consents to the entry of a final order by the above-captioned Bankruptcy Court.
 - Defendant ROBERT WATT ("Defendant") is an individual. 97.

FIRST CLAIM FOR RELIEF Avoidance and Recovery of Preferential Transfer

- 98. On or about 10/19/2015, the Debtor made transfers in the form of cash credits issued to Defendant and wine shipped to Defendant in the aggregate value of at least \$10,905.34 (the "Transfer"). A detailed summary of the credits and wines constituting the Transfer is attached hereto as Exhibit A.
- 99. The Transfer was made to or for the benefit of a creditor, namely, the Defendant, who, at the time of the Transfer, was owed goods and money by the Debtor.
 - The Transfer was made on account of an antecedent debt. 100.
 - 101. The Transfer was made while the Debtor was insolvent.
 - The Transfer was made within 90 days of the Petition Date. 102.

: 16-40050 Doc# 661 Filed: 12/18/17 Entered: 12/18/17 11:45:39 Page 3 of 6

Determining that the Trustee may recover \$10,905.34 from Defendant; and

28

32.

EXHIBIT A

Case: 16-40050 Doc# 661 Filed: 12/18/17 Entered: 12/18/17 11:45:39 Page 5 of 6

CustID	CustName	ShipDate	Shipment	PMT Date	Tender Type	SO Date	Sales Order	PickDate	PickList	ItemID	Format	QtyShip	Unit	Рпісе	ExtP	Price
Rwatt	Robert Watt	11/17/2015	0000338066-SH	9/10/2010	AMEX	9/9/2010	SO-0000342642	11/16/2015	129587	41620 09 Smith Haut Lafitte Rou	g∈ 1.5 L	2	\$	150.00	\$	300.00
Rwatt	Robert Watt	11/17/2015	0000338066-SH	10/8/2010	AMEX	10/4/2010	SO-0000343672	11/16/2015	129587	41706 09 Haut Brion	750 ml	3	\$	699.99	\$	2,099.97
Rwatt	Robert Watt	10/19/2015	0000336766-SH	9/10/2010	AMEX	9/9/2010	SO-0000342642	10/16/2015	128558	41748 09 Branon	750 ml	6	\$	50.00	\$	300.00
Rwatt	Robert Watt	10/19/2015	0000336766-SH	9/10/2010	AMEX	9/9/2010	SO-0000342642	10/16/2015	128558	41570 09 Malescot St Exupery	750 ml	6	\$	60.00	\$	360.00
Rwatt	Robert Watt	10/19/2015	0000336766-SH	9/10/2010	AMEX	9/9/2010	SO-0000342642	10/16/2015	128558	41618 09 Smith Haut Lafitte Rou	g∈ 750 ml	6	\$	80.00	\$	480.00
Rwatt	Robert Watt	10/19/2015	0000336766-SH	10/22/2010	AMEX	10/22/2010	SO-0000344422	10/16/2015	128558	41630 09 Clinet 3 Liter	3 L	1	\$	499.99	\$	499.99
Rwatt	Robert Watt	10/19/2019	0000336766-SH	8/27/2009	AMEX	8/27/2009	SO-0000323316	10/16/2015	128558	38188 04 Barolo Sori Ginestra, Co	on 750 ml	2	\$	79.99	\$	159.98
Rwatt	Robert Watt	10/19/2015	0000336766-SH	3/26/2010	AMEX	3/26/2010	SO-0000334927	10/16/2015	128558	39983 08 Clinet	750 ml	6	\$	55.99	\$	335.94
Rwatt	Robert Watt	10/19/2015	0000336766-SH	8/11/2010	AMEX	8/11/2010	50-0000341529	10/16/2015	128558	41533 09 Pontet Canet Magnum	1.5 L	2	\$	290.00	\$	580.00
Rwatt	Robert Watt	10/19/2015	0000336766-SH	12/6/2010	AMEX	12/6/2010	SO-0000346291	10/16/2015	128558	41605 09 Haut Bailly	750 ml	12	\$	69.99	\$	839.88
Rwatt	Robert Watt	10/19/2015	0000336766-SH	6/1/2011	AMEX	6/1/2011	SO-0000356970	10/16/2015	128558	41706 09 Haut Brion	750 ml	3	\$	550.00	\$	1,650.00
Rwatt	Robert Watt	10/19/2015	0000336766-SH	12/27/2010	AMEX	12/24/2010	SO-0000347526	10/16/2015	128558	42373 07 Flaccianello, Fontodi	750 ml	6	\$	49.99	\$	299.94
Rwatt	Robert Watt	10/19/2015	0000336766-SH	3/9/2012	AMEX	3/8/2012	50-0000376419	10/16/2015	128558	43919 2010 Smith Haut Lafitte	750 ml	12	\$	39.99	\$	479.88
Rwatt	Robert Watt	10/19/2019	0000336766-SH	4/26/2012	AMEX	4/26/2012	SO-0000380546	10/16/2015	128558	43927 2010 Montrose	750 ml	12	\$	99.99	\$	1,199.88
Rwatt	Robert Watt	10/19/2015	0000336766-SH	4/26/2012	AMEX	4/26/2012	SO-0000380546	10/16/2015	128558	44063 2010 Ducru Beaucaillou	750 ml	12	\$	109.99	\$	1,319.88
												91			\$	10,905.34

Case: 16-40050 Doc# 661 Filed: 12/18/17 Entered: 12/18/17 11:45:39 Page 6 of 6